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Instructions to the lda@)/

1) Solve O 67 0.2(0:3 or 0.4 &
2) Eachgque tio@ries equal marks. ,
3) Figaresto t. ght indicates full marks. o
4) Use cal%or is allowed.
5 Assume% able data, if necessary. y
3 x
Q1) a) ict the population for the year 2041 fr e following population
@ ta. By using N@ [6]
1)  Arithmetic increase meth >

1) Incremental Increase me

Year 1961 1971
Population [8,58,545

1991 2001 2011
» 01,553 {16,91,538 {20,77,820 [25,85,862
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b) u d@r the water supply scheme? ]
c) 1@96 State and explain the factors affectin%gesign
v N, o 18]
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a) ', Find the fire demand for town having populati lald\%sing various
' ormulae such as é \(\9 [6]
| 1) Kuichling’s Formula. @ (r}QO)
11) Freeman Formula Cg/ %Q
3o
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b) Describe the different phases involy@ in water supply scheme. [4]
vV
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c) Explainin detail the importance%?'water infrastructure. [5]

03) a) Whatis mean by discrete p%gi_'?‘es? Explain the concept of sedimentation.

O')\, & 151

b) Designa Ca@ @%h)%)r for maximum demand of water is 125 MLD.
Assume 1 ipéthameter is 1.1 m, draw plan and elevation of the

]
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c) Whéérgle éihciple of sedimentation? Enlist the Variou%a | cting

s@ﬂlen n. @ [4]
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04) a) Wb%pt"fnean by aeration? Explain the signiﬁ(@% and its limitations.

aeratio ta'k%(\/
N
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water. Describe any one with

4]

b) Vo‘f)eﬁne screening? State various %@m used for screening the
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